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HEE BIE | BAE | BE [ BAE | 5ME | BXE | SABAESH | A2 K

N 0.06 0.17 — 0.06 — — RELT 3
FA/NFER 0.05 0.19 — 0.05 — — RELT 5
/N2 0.06] 021 = 0.06]  — — kEEEY 3
BN 0.05 0.18] — 0.06] — — |fIE 3
bR 0.06 0.23 — 0.06 — — RELT 5
JbiaT R /N A 0.09 0.16 — 0.09 — — RELT 4
FaARINFRL 0.06 0.14 — 0.06 — — AEEILS 5
BININERR 0. 06 0.09] — 0.06[ — —  |fEE 3
B EINFR 0.06 0.07 — 0.06 — — REWLT 3
EBT/INFR 0.08 0.17 — 0.08 — — wEEEY 8
KHETG/NER 0. 06 0.08 — 0.06 — — ;5 3
ANHEHE/NFR 0.07 0.24 — 0.07 — — REWLT 3
FEINERR 0.05 0.16] — 0.05[ — —  |fEiE 2
ENET 0.06 0.19[  — 0.06[ — —  |fEiE 6
i B INFERE 0.05 0.28 — 0.05 — — REWLT 3
EREIEE A 0.07 0.12 — 0.07 — — ;5 3
2R 0.07] 014 — — — 0.07 [#IE 8
ITH PR 0.06 0.15 — — — 0.06 |MEWLVTE 5
RFHER 0.06 0.19 — — — 0.06 |[REWLVTE 3
RARER 0.06 0.12 — — — 0.06 |RIEWLVTE 3
15 E hEiR 0.05 0.20 — — — 0.05 |{8I;E 2
AHPFR 0.09 0.15 — — — 0.08 [{AIiEth 3
il k=2 5 0.06 0.13 — — — 0.13 |WEWLT 5
B R PR 0.06 0.14 — — — 0.06 |REWLVTE 7
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